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Y 1.
3Ot 31T GiReTenT H T[UH-Hfoha o TRIUN o SR WR HHiford Huet o Rad Rl &1 gfd Biforg (el axh)-
3<ie-

(i) 468 X0 =0

(ii) 8976 x 5432 = 5432 x 8976

(i) 8973 x 1 = 8973

Y 2.

frafiRad &1 U TG TR0 &1 ThNT $Rb J1d HIToTE -
(i) 4 x 2834 x 25

?d:

4x2834x25

= (4 x 2834) x 25 (8T fFuw T)

= (2834 x 4) x 25 (PHAFHY FTH T)

= 2834 x (4 x 25) (WG 9 )

= 2834 x 100 = 283400

(i) 5 x 658 x 80

?d:

5X 658 x 80

= (5 x 658) x 80 (&I fATH T)

= (658 x 5) x 80 (HHAHY 79 T)
= 658 x (5 x 80) (Tg=d FgH )

=658 x400=263200

(iii) 25 x 4837 x 40

°d:

25 x 4837 x 40

= (25 x 4837) x 40 TTETd A,

= (4837 x 25) x 40 (HHRIAAT Fram §)
= (4837 x (25%40) (g Fram Q)

- 4837 x 1000 = 4837000



U¥ 3.

fereRoT TRUT 1 TR e Fiferd B 9 Uie &1 UM F1d S|
(i) 487 x 1008

ed:

487 x 1008

= 487 x (1000 + 8)

= 487 x 1000 + 487 x 8 (IeRwI o §)

= 487000 + 3896 = 490896

(i) 998 x 436

?d:

998 x 436 = (1000 - 2) x 436

= 1000 x 436 — 2 x 436 (fAaRU FgH Q)
= 436000 — 872 = 435128

(iii) 6754 x 94

?d:

6754 x 94

= 6754 x (100 - 6)

= 6754 x 100 — 6754 x 6 (fAaRv AT W)
= 675400 — 40524 = 634876

(iv) 26478 x 106

ed:

26478 x 106

= 26478 x (100 + 6)

= 26478 x 100 + 26478 x 6 ([ddRUI fATH 9)
= 2647800 + 158868 = 2806668





